PITT Qube SU-40V-AAA-2

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/09 15:28:08



PITT Qube

SU-40V-AAA-2

No. mE & - HME B Eff iBE

1 012217001  [SU-40V-1A{K FC 1 14,600

2 012208201  |SE-40 #° ¥7°4-2 (KOSHINAT" A) ADC12 vaybh |1 6,000

3 011332702 [SE-40IR A7 S5 > < (G) ADC 1 1,200

4 011332801  [SE-40 Fvy4n h7° NBR 1 900

5 011807802 [20A7FS54 43 2 600|PA-156(4971770-102156)

6 012214401 SU-40V-1 1 VRS FC-200 1 2,800|31R 4

7 011021812  |SU-40H-3 iB&= FC-20 1 3,500

8 011057702 [SE-40LMtE 7S ADC 1 2,500

9 011059301  [SE-40L-1 759" I° v&Yy CR 1 400

10 011573602  [SU-40V Y¥7}+ S45C 1 4,100

11 011573701  [SU-40V/KEI#R NBR 2 300

12 889855018 [OUv4” P18 NBR 2 200

13 011831402  [SU-40 V7°-U--& M3 3 1 4,000
xA2+M8x
12

14 888427047 |CTLE Xk wHEH4 7SK |1 200

15 884009044 |[FEiT¥— J? x5x2 8|1 200
%

16 912506014 [EIVE@HT 00%089101: 2 1,800
V!

17 011501401 [OYv4° 1517-42.5 |1 500
NBR

18  [889855048 |0Yv4" P48 NBR 1 200

19 743119045  |MAN FBIERESHEANSAET L M8X20 M8x20 3 200
SWRM

20 743119047  |MAN ISR ESERANET W M8X25 M8x25 4 200
SWRM

21 743119046  |MAN BILRESHEASAET W M8X22 M8x2 2 4 200
SWRM

22 743119043  [MAN BIERESHEANARIL b M8x16 1 200
SWRM

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/09 15:28:08




PITT Qube SU-40V-AAA-2
No. i SREZ G - ME BRI EfM S

23 011801304 SE-40 AM-T-93(31YY%) PA22 1 2,000|PA-22(4971770-111202)

24 940019048 H-A0N VN ¢ 48 3 200

25 011721201 SE-40 1v7°Yv9" 43 (PC+ABS) PA-94 PSy” 2 1,100[PA-94(4971770-101524)
PC+ABS PA-
94

26 011498601 A0mmAhAy Yy PCE®& 2 600

27 011035803 40 TTDF=v T ABS 2 400

28 011498701 A0MM 197°)vh" I wky I%BR YN |2 300

29 011482502 SU-50X Ahzhy-lb TYPEG 3/4"%5(1 3,000
h-h-F Y

30 011601301 SU-40V 7° -)-1E &7y 9+~ ¢ 8.5%x26 1 200

31 011579302 SU-40V-AAA-0£41R 7hAY7404 TO.5|1 300

32 889955025 oyvy” G25 NBR 2 200

00 011580304 SU-V U-2" BXER A5 P18 1 500

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/09 15:28:08



